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QUESTION 1

Which two statements are true about high availability on Junos devices? (Choose two.)

A. BFD is faster at detecting failures than default GRE or OSPF timers.

B. BFD is slower at detecting failures than default GRE or OSPF timers.

C. NSR is dependent on helper routers to assist the routing platform in restoring routing protocol information.
D. NSR is independent on helper routers to assist the routing platform in restoring routing protocol information.

Correct Answer: AD

QUESTION 2

Click the Exhibit button.

R1 R3
Priority: 255 Priority: 128
RID: 10.10.10.1 RID: 10.10.10.3
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R2 R4
Priority: 255 Priority: 128
RID: 10.10.10.2 RID: 10.10.10.4

Referring to the exhibit, which router becomes the OSPF DR when all routers are powered on at the same time?
A.R3

B. R4
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C.R1
D.R2

Correct Answer: D

QUESTION 3

Click the Exhibit button.
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[edit]
user@Router—1# show interfaces
ge-0/0/0 {
unit 0 {
family inet {
address 10.10.10.33/24;
}
}
1
ge-0/0/2 {
unit 0 {
family inet {
address 10.1.0.254/24;
}
family iso {
address 49.0003.0152.0168.0113.00;
}
}
}
100 {
unit 0 {
family inet {
address 192.168.1.11/32;
}
family iso {
address 45.0002.0152.0168.0111.00;
}

}

[edit]
user@Router—1%# show protocols
isis

overload;

level 2 disable;

interface all;

}
[edit]
user@Router—2%f show interfaces
ge=-0/0/0 {
unit 0 {
family inet {
addresa 10.10.10.34/24;
}
}
}
ge—0/0/2 {
unit 0 {
family inet {
address 10.1.0.1/16;
H
family iso;
}
H
100 {
unit 0 {
family inet {
address 192.168.1.12/32;
}
family iso
address 49.0001.0152.0168.0112.00;
}
}
1
[edit]
user@Router—2% show protocols
isis {

interface all;

}
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Referring to the exhibit, Router-1 and Router-2 are failing to form an 1S-IS adjacency.
What should you do to solve the problem?

A. Remove the overloaded statement from Router-1.

B. Change the IP subnet masks to match on the ge-0/0/2 interfaces of both routers.
C. Change the ISO areas on the 100 interfaces to match on both routers.

D. Remove the ISO address from ge-0/0/2 on Router-1.

Correct Answer: D

QUESTION 4

In which two STP states is a port active and a MAC address learned? (Choose two.)
A. blocking

B. forwarding

C. disabled

D. learning

Correct Answer: BD

QUESTION 5

Which two statements are true about an EX2300 device? (Choose two.)
A. By default, trunk ports can carry untagged traffic.

B. By default, all switch ports are trunk ports.

C. By default, all switch ports are access ports.

D. By default, all switch ports are associated with the default VLAN.

Correct Answer: CD
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